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Answer Five questions in ull.

All guestions carry equal marks
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What is production possibility curve ? Explain how
this curve illustrates three concepis-scarcity. choice
and opportunity cost and aiso show the effect of
economic growth on this curve. (13)
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(a) Disunguish between price elasticity of demand and
income elasticity of demand.

(b) Why is demand of many products is likely to be
more elastic in the long run than in the short run ?

(¢) Why is elasticity of demand different at different
points on a negatively sloped straight line demand
curve ? (5.5.5)
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Explain consumer equilibrium with the help of
indifference curve technique. How will an increase in
consumer’s income affect his cquilibrium ? (15}
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4. (a) Explain the taw of diminishing returns to a factor

with suitable diagram.

(b) Calculate total variable cost. average fixed cost.
average variable cost. average cost and marginal

cost from the data given below (5.10)
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5. What are the cssential features of a perfectly
competitive market 7 Describe the process by which
the profits of tirms in such a market are eliminated in

the long run. Usc diagram, (13}
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6. Show the profit maximizing equilibrium of a monopoly
tirm. Describe the mechanism of price discrimination

by a monopolist. (13
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(a) The gains from international trade arise from
different vpportunity costs in the two-countries.
Explain.

{by Do you think the protectionism from free
international trade is a good policy ? Discuss.
(7.5.7.5)
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8. Write notes on any two
(ay Economiv rent

{b) Derivation of supply curve of a perfectly

competitive mdustry
{¢) Concept of excessive capacity (7.5.7.3)
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